

## A New General Integral Operator \*

Daniel Breaz<sup>†</sup>

*Department of Mathematics, "1 Decembrie 1918" University,  
Alba Iulia, Romania*

H. Özlem Güney<sup>‡</sup>

*Department of Mathematics, Faculty of Science and Arts,  
University of Dicle, Diyarbakir, Turkey*

and

Grigore Ştefan Sălăgean<sup>§</sup>

*Department of Mathematics, "Babeş Bolyai" University,  
Cluj Napoca, Romania*

Received June 17, 2008, Accepted July 24, 2008.

### Abstract

In this paper we define a new general integral operator for certain holomorphic functions in the unit disc  $\mathcal{U}$  and give some properties for this integral operator on some classes of univalent functions

**Keywords and Phrases:** *Integral operator, Holomorphic functions, Starlike functions, Convex functions.*

---

\*2000 *Mathematics Subject Classification.* 30C45.

<sup>†</sup>E-mail: dbreaz@uab.ro

<sup>‡</sup>E-mail: ozlemg@dicle.edu.tr

<sup>§</sup>E-mail: salagean@math.ubbcluj.ro

## 1. Introduction

Let  $\mathcal{U} = \{z \in \mathbb{C}, |z| < 1\}$  be the open unit disc of the complex plane. Denote by  $\mathcal{A}$  the class of holomorphic functions in  $\mathcal{U}$  of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n.$$

Recently, D. Breaz and N. Breaz in [3] introduced and studied the integral operator

$$F_n(z) = \int_0^z \left(\frac{f_1(t)}{t}\right)^{\mu_1} \cdots \left(\frac{f_n(t)}{t}\right)^{\mu_n} dt, \quad (1)$$

where  $\mu_1, \dots, \mu_n$  are real numbers,  $n \in \mathbb{N} = \{1, 2, 3, \dots\}$ .

Sălăgean [2] has introduced the following operator  $D^k : \mathcal{A} \rightarrow \mathcal{A}$   $k \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$  by

$$\begin{aligned} D^0 f(z) &= f(z) \\ D^1 f(z) &= Df(z) = zf'(z) \\ D^k f(z) &= D(D^{k-1}f(z)) = z + \sum_{n=2}^{\infty} n^k a_n z^n. \end{aligned}$$

The purpose of this paper is to define a new integral operator which derive from the above mentioned integral operators with the help of the operator  $D^k$ .

**Definition 1.** We define the general integral operator  $I_{k,n,\lambda,\mu} : \mathcal{A}^n \rightarrow \mathcal{A}$  by

$$I_{k,n,\lambda,\mu}(f_1, \dots, f_n) = F, \quad D^k F(z) = \int_0^z \left(\frac{D^{\lambda_1} f_1(t)}{t}\right)^{\mu_1} \cdots \left(\frac{D^{\lambda_n} f_n(t)}{t}\right)^{\mu_n} dt \quad (2)$$

where  $f_1, \dots, f_n \in \mathcal{A}$ ,  $\lambda = (\lambda_1, \dots, \lambda_n) \in \mathbb{N}_0^n$ ,  $\mu = (\mu_1, \dots, \mu_n) \in \mathbb{N}^n$ ,  $n \in \mathbb{N}$  and  $k \in \mathbb{N}_0$ .

**Remark 1.** If we take  $k = 0$  or  $k = 1$  and  $\lambda_1 = \dots = \lambda_n = 0$  in Definition, we obtain the definitions given by the first author and N.Breaz in [3].

In order to prove our results we need the following lemma:

**Lemma.** Let  $F = I_{k,n,\lambda,\mu}(f_1, \dots, f_n)$ , where  $f_1, \dots, f_n \in \mathcal{A}$ , and  $k, n, \lambda, \mu$  are as in Definition 1; then

$$\frac{D^{k+2}F(z)}{D^{k+1}F(z)} = \sum_{i=1}^n \mu_i \frac{D^{\lambda_i+1}f_i(z)}{D^{\lambda_i}f_i(z)} + 1 - \sum_{i=1}^n \mu_i. \quad (3)$$

**Proof.** By (2) we have

$$\frac{D^{k+1}F(z)}{z} = \left(\frac{D^{\lambda_1}f_1(t)}{t}\right)^{\mu_1} \dots \left(\frac{D^{\lambda_n}f_n(t)}{t}\right)^{\mu_n}.$$

Also we obtain

$$\begin{aligned} & \frac{D^{k+2}F(z) - D^{k+1}F(z)}{z^2} \\ &= \sum_{i=1}^n \mu_i \left(\frac{D^{\lambda_i}f_i(z)}{z}\right)^{\mu_i} \cdot \left(\frac{D^{\lambda_i+1}f_i(z) - D^{\lambda_i}f_i(z)}{zD^{\lambda_i}f_i(z)}\right) \prod_{j=1, j \neq i}^n \left(\frac{D^{\lambda_j}f_j(z)}{z}\right)^{\mu_j} \end{aligned}$$

Hence,

$$\frac{\frac{D^{k+2}F(z) - D^{k+1}F(z)}{z^2}}{\frac{D^{k+1}F(z)}{z}} = \frac{\sum_{i=1}^n \mu_i \left(\frac{D^{\lambda_i}f_i(z)}{z}\right)^{\mu_i} \cdot \left(\frac{D^{\lambda_i+1}f_i(z) - D^{\lambda_i}f_i(z)}{zD^{\lambda_i}f_i(z)}\right) \prod_{j=1, j \neq i}^n \left(\frac{D^{\lambda_j}f_j(z)}{z}\right)^{\mu_j}}{\left(\frac{D^{\lambda_1}f_1(z)}{z}\right)^{\mu_1} \dots \left(\frac{D^{\lambda_n}f_n(z)}{z}\right)^{\mu_n}},$$

or, after simplifications,

$$\frac{D^{k+2}F(z)}{zD^{k+1}F(z)} - \frac{1}{z} = \sum_{i=1}^n \mu_i \left(\frac{D^{\lambda_i+1}f_i(z) - D^{\lambda_i}f_i(z)}{zD^{\lambda_i}f_i(z)}\right)$$

and finally we obtain

$$\frac{D^{k+2}F(z)}{D^{k+1}F(z)} - 1 = \sum_{i=1}^n \mu_i \left(\frac{D^{\lambda_i+1}f_i(z) - D^{\lambda_i}f_i(z)}{D^{\lambda_i}f_i(z)}\right) = \sum_{i=1}^n \mu_i \frac{D^{\lambda_i+1}f_i(z)}{D^{\lambda_i}f_i(z)} - \sum_{i=1}^n \mu_i.$$

**Definition 2.** ([5]). The class of *k*-starlike functions of order  $\delta$  is defined by

$$\mathcal{S}_k(\delta) = \left\{ f \in \mathcal{A} : \operatorname{Re} \frac{D^{k+1}f(z)}{D^k f(z)} > \delta, z \in \mathcal{U} \right\},$$

where  $\delta \in [0, 1)$  and  $k \in \mathbb{N}_0$ .

**Remark 2.** Particularly,  $\mathcal{S}_1(0)$  is the class of convex functions and  $\mathcal{S}_0(0)$  is the class of starlike functions ([5]).

**Definition 3.** ([2], [4]). We define the class of  $k$ -uniform starlike function of order  $\delta$  and type  $\alpha$  by

$$\mathcal{US}_k(\alpha, \delta) = \left\{ f \in \mathcal{A} : \operatorname{Re} \frac{D^{k+1}f(z)}{D^k f(z)} \geq \alpha \left| \frac{D^{k+1}f(z)}{D^k f(z)} - 1 \right| + \delta; \quad z \in \mathcal{U} \right\}$$

where  $\alpha \geq 0, \delta \in [-1, 1), \alpha + \delta \geq 0, k \in \mathbb{N}$ .

**Remark 3.** ([2], [4]). The geometric interpretation is that if  $f \in \mathcal{US}_k(\alpha, \delta)$ , then, for all  $z \in \mathcal{U}$ , the values of  $D^{k+1}f(z)/D^k f(z)$  belongs to the convex domain  $\Delta_{\alpha, \delta}$  included in the right half plane  $\{w : \operatorname{Re} w > \frac{\alpha + \delta}{\alpha + 1}\}$ , where  $\Delta_{\alpha, \delta}$  is the half plane  $\{w : \operatorname{Re} w > \delta\}$  for  $\alpha = 0$ , a hyperbolic region for  $0 < \alpha < 1$ , a parabolic region for  $\alpha = 1$ , or an elliptic region for  $\alpha > 1$ . From this we deduce that  $\mathcal{US}_k(\alpha, \delta) \subset \mathcal{S}_k(\frac{\alpha + \delta}{\alpha + 1})$  and  $\mathcal{US}_k(0, \delta) = \mathcal{S}_k(\delta)$ .

**Definition 4.** ([1]). We define the class  $\mathcal{SH}_k(\alpha)$  by

$$\begin{aligned} & \mathcal{SH}_k(\alpha) \\ = & \left\{ f \in \mathcal{A} : \left| \frac{D^{k+1}f(z)}{D^k f(z)} - 2\alpha(\sqrt{2} - 1) \right| < \operatorname{Re} \left\{ \sqrt{2} \frac{D^{k+1}f(z)}{D^k f(z)} \right\} + 2\alpha(\sqrt{2} - 1), \quad z \in \mathcal{U} \right\}, \end{aligned} \quad (4)$$

where  $\alpha > 0$  and  $n \in \mathbb{N}_0$ .

## 2. Main results

**Theorem 1.** Let  $k, n, \lambda, \mu$  be as in Definition 1, let  $\delta_i \in [-1, 1), \alpha_i \geq 0, \alpha_i + \delta_i \geq 0$  for  $i = \{1, \dots, n\}$  and suppose that  $\sum_{i=1}^n \mu_i \frac{1 - \delta_i}{1 + \alpha_i} \leq 1$ . If  $f_i \in \mathcal{US}_{\lambda_i}(\alpha_i, \delta_i)$  for  $i = \{1, \dots, n\}$ , then  $F = I_{k, n, \lambda, \mu}$  belongs to  $\mathcal{S}_{k+1}(0)$ .

**Proof.** Since  $f_i \in \mathcal{US}_{\lambda_i}(\alpha_i, \delta_i)$ , from Remark 3 and Definition 2 we have

$$\operatorname{Re} \frac{D^{\lambda_i+1}f_i(z)}{D^{\lambda_i}f_i(z)} > \frac{\alpha_i + \delta_i}{\alpha_i + 1} \quad (5)$$

From (3) and (5) we have

$$\operatorname{Re} \frac{D^{k+2}F(z)}{D^{k+1}F(z)} = \sum_{i=1}^n \mu_i \operatorname{Re} \frac{D^{\lambda_i+1}f_i(z)}{D^{\lambda_i}f_i(z)} - \sum_{i=1}^n \mu_i + 1 >$$

$$\sum_{i=1}^n \mu_i \frac{\alpha_i + \delta_i}{\alpha_i + 1} - \sum_{i=1}^n \mu_i + 1 = \sum_{i=1}^n \mu_i \frac{\delta_i - 1}{\alpha_i + 1} + 1 \geq 0, \quad z \in \mathcal{U}$$

and by Definition 2 it follows that  $F \in \mathcal{S}_{k+1}(0)$

**Corollary 1.** *Let  $k, n, \lambda, \mu$  be as in Definition 1, let  $\delta_1, \dots, \delta_n \in [0, 1)$  and suppose that  $\sum_{i=1}^n \mu_i(1 - \delta_i) \leq 1$ . If  $f_i \in \mathcal{S}_{\lambda_i}(\delta_i)$  for  $i = \{1, \dots, n\}$ , then  $F = I_{k,n,\lambda,\mu} \in \mathcal{S}_{k+1}(0)$ .*

**Proof.** In Theorem 1 we put  $\alpha_i = 0$  for  $i = \{1, \dots, n\}$ .

**Theorem 2.** *Let  $k, n, \lambda, \mu$  be as in Definition 1, let  $\delta_i \in [-1, 1)$ ,  $\alpha_i \geq 0$ ,  $\alpha_i + \delta_i \geq 0$  for  $i \in \{1, \dots, n\}$  and suppose that  $\sum_{i=1}^n \mu_i \leq 1$ . If  $f_i \in \mathcal{US}_{\lambda_i}(\alpha_i, \delta_i)$  for  $i = \{1, \dots, n\}$ , then  $F = I_{k,n,\lambda,\mu}$  belongs to  $\mathcal{S}_{k+1}(\delta^*)$ , where  $\delta^* = \sum_{i=1}^n \mu_i \frac{\alpha_i + \delta_i}{\alpha_i + 1}$ .*

The proof is similar to those of Theorem 1 and is omitted.

**Corollary 2.** *Let  $k, n, \lambda, \mu$  be as in Definition 1, let  $\delta_1, \dots, \delta_n \in [0, 1)$  and suppose that  $\sum_{i=1}^n \mu_i \leq 1$ . If  $f_i \in \mathcal{S}_{\lambda_i}(\delta_i)$  for  $i \in \{1, \dots, n\}$ , then  $F = I_{k,n,\lambda,\mu} \in \mathcal{S}_{k+1}(\delta^*)$ , where  $\delta^* = \sum_{i=1}^n \mu_i \delta_i$ .*

**Proof.** In Theorem 2 we put  $\alpha_i = 0$  for  $i = \{1, \dots, n\}$ .

**Remark 4.** In the particular case  $n = \mu_1 = 1$ ,  $k = \delta_1 = \lambda_1 = 0$  and  $f_1 = f$  we reobtain the well-known result: if  $f$  is a starlike function and  $f(z) = zF'(z)$ , then  $F$  is a convex function.

**Theorem 3.** *Let  $k, n, \lambda, \mu$  be as in Definition 1, let  $\alpha \geq 0$ ,  $\delta \in [-1, 1)$ ,  $\alpha + \delta \geq 0$  and suppose that  $\sum_{i=1}^n \mu_i \leq 1$ . If  $f_i \in \mathcal{US}_k(\alpha, \delta)$  for  $i = \{1, \dots, n\}$ , then  $F = I_{k,n,\lambda,\mu}$  belongs to  $\mathcal{US}_{k+1}(\alpha, \delta)$ .*

**Proof.** By using (3) and Definition 3 we deduce

$$\begin{aligned} & \operatorname{Re} \frac{D^{k+2}F(z)}{D^{k+1}F(z)} - \alpha \left| \frac{D^{k+2}F(z)}{D^{k+1}F(z)} - 1 \right| - \delta \\ &= \sum_{i=1}^n \mu_i \operatorname{Re} \frac{D^{k_i+1}f_i(z)}{D^{k_i}f_i(z)} - \sum_{i=1}^n \mu_i + 1 - \alpha \left| \sum_{i=1}^n \mu_i \left( \frac{D^{k_i+1}f_i(z)}{D^{k_i}f_i(z)} - 1 \right) \right| - \delta \\ &\geq \sum_{i=1}^n \mu_i \left[ \operatorname{Re} \frac{D^{k_i+1}f_i(z)}{D^{k_i}f_i(z)} - \alpha \left| \sum_{i=1}^n \frac{D^{k_i+1}f_i(z)}{D^{k_i}f_i(z)} - 1 \right| - \delta \right] + \sum_{i=1}^n \mu_i \delta - \sum_{i=1}^n \mu_i + 1 - \delta \\ &\geq (1 - \delta) \left( 1 - \sum_{i=1}^n \mu_i \right) \geq 0, \quad z \in \mathcal{U} \end{aligned}$$

**Theorem 4.** Let  $k, n, \lambda, \mu$  be as in Definition 1, let  $\alpha \geq 0$  and suppose that  $\sum_{i=1}^n \mu_i \leq 1$ . If  $f_i \in \mathcal{SH}_{\lambda_i}(\alpha)$  for  $i = \{1, \dots, n\}$ , then  $F = I_{k,n,\lambda,\mu}$  belongs to  $\mathcal{SH}_{k+1}(\alpha)$ .

**Proof.** Since  $f_i \in \mathcal{SH}_{\lambda_i}(\alpha)$  for  $i = \{1, \dots, n\}$ , from Definition 4 we have

$$\operatorname{Re} \left\{ \sqrt{2} \frac{D^{\lambda_i+1} f(z)}{D^{\lambda_i} f(z)} \right\} + 2\alpha (\sqrt{2} - 1) - \left| \frac{D^{\lambda_i+1} f(z)}{D^{\lambda_i} f(z)} - 2\alpha (\sqrt{2} - 1) \right| > 0, \quad z \in U. \quad (6)$$

By (3) and (6) we have

$$\begin{aligned} & \operatorname{Re} \left\{ \sqrt{2} \frac{D^{k+2} F(z)}{D^{k+1} F(z)} \right\} - \left| \frac{D^{k+2} F(z)}{D^{k+1} F(z)} - 2\alpha (\sqrt{2} - 1) \right| + 2\alpha (\sqrt{2} - 1) \\ &= \sum_{i=1}^n \mu_i \operatorname{Re} \left\{ \sqrt{2} \frac{D^{\lambda_i+1} f(z)}{D^{\lambda_i} f(z)} \right\} + \sqrt{2} - \sqrt{2} \sum_{i=1}^n \mu_i \\ & \quad - \left| \sum_{i=1}^n \mu_i \frac{D^{\lambda_i+1} f(z)}{D^{\lambda_i} f(z)} + 1 - \sum_{i=1}^n \mu_i - 2\alpha (\sqrt{2} - 1) \right| + 2\alpha (\sqrt{2} - 1) \\ &= \sum_{i=1}^n \mu_i \left[ \operatorname{Re} \left\{ \sqrt{2} \frac{D^{\lambda_i+1} f(z)}{D^{\lambda_i} f(z)} \right\} + 2\alpha (\sqrt{2} - 1) \right] - \sum_{i=1}^n \mu_i \left[ 2\alpha (\sqrt{2} - 1) + \sqrt{2} \right] + \sqrt{2} \\ & \quad - \left| \sum_{i=1}^n \mu_i \left[ \frac{D^{\lambda_i+1} f(z)}{D^{\lambda_i} f(z)} - 2\alpha (\sqrt{2} - 1) \right] + 2\alpha (\sqrt{2} - 1) \sum_{i=1}^n \mu_i + 1 - \sum_{i=1}^n \mu_i - 2\alpha (\sqrt{2} - 1) \right| \\ & \quad + 2\alpha (\sqrt{2} - 1) \\ &\geq \sum_{i=1}^n \mu_i \left[ \operatorname{Re} \left\{ \sqrt{2} \frac{D^{\lambda_i+1} f(z)}{D^{\lambda_i} f(z)} \right\} + 2\alpha (\sqrt{2} - 1) - \left| \frac{D^{\lambda_i+1} f(z)}{D^{\lambda_i} f(z)} - 2\alpha (\sqrt{2} - 1) \right| \right] \\ &> \left[ 2\alpha (\sqrt{2} - 1) + \sqrt{2} \right] \left( 1 - \sum_{i=1}^n \mu_i \right) - \left| 1 - 2\alpha (\sqrt{2} - 1) \right| \left( 1 - \sum_{i=1}^n \mu_i \right) \\ &> \left( 1 - \sum_{i=1}^n \mu_i \right) \min \{ (\sqrt{2} - 1)(1 + 4\alpha), \sqrt{2} + 1 \} \geq 0, \quad z \in U. \end{aligned}$$

Now by Definition 4 we obtain that  $F \in \mathcal{SH}_{k+1}(\alpha)$ .

**Theorem 5.** Let  $k, n, \lambda, \mu$  be as in Definition 1, let  $\alpha \geq 0$  and let  $f_i \in \mathcal{SH}_{\lambda_i}(\alpha)$  for  $i = \{1, \dots, n\}$ . If

$$1 - \sum_{i=1}^n \mu_i \left[ 2\alpha (\sqrt{2} - 1) + 1 \right] > 0$$

then  $F_n \in \mathcal{S}_{k+1}(0)$ .

**Proof.**

Multiplying the equality (3) by  $\sqrt{2}$  and using (6) we obtain

$$\begin{aligned}
 & \operatorname{Re} \sqrt{2} \frac{D^{k+2} F_n(z)}{D^{k+1} F_n(z)} \\
 = & \operatorname{Re} \left[ \sum_{i=1}^n \sqrt{2} \alpha_i \frac{D^{k+1} f_i(z)}{D^k f_i(z)} \right] + \sum_{i=1}^n 2\alpha_i \alpha (\sqrt{2} - 1) \\
 & - \sum_{i=1}^n 2\alpha_i \alpha (\sqrt{2} - 1) - \sum_{i=1}^n \sqrt{2} \alpha_i + \sqrt{2} \\
 > & \sum_{i=1}^n \alpha_i \left| \frac{D^{k+1} f_i(z)}{D^k f_i(z)} - 2\alpha(\sqrt{2} - 1) \right| \\
 & - \sum_{i=1}^n \alpha_i [2\alpha(\sqrt{2} - 1) + \sqrt{2}] + \sqrt{2} \\
 > & \sqrt{2} \left( 1 - \sum_{i=1}^n \alpha_i [\sqrt{2}\alpha(\sqrt{2} - 1) + 1] \right) > 0
 \end{aligned}$$

So, by Definition 2,  $F \in \mathcal{S}_{k+1}(0)$ .

### Acknowledgements

The present investigation was supported, in part, by the Grant CEEEX(2-CEX 06-11-10/2005).

The authors thank to professor Hari M. Srivastava for his valuable suggestions on this paper.

## References

- [1] M. Acu, Subclasses of convex functions associated with some hyperbola, *Acta Univ. Apulensis*. **12**(2006), 3-12.
- [2] M. Acu and S. Owa, Convex functions associated with some hyperbola, *J. Aprox. Th. Appl.* **1**(2005), 37-40.
- [3] D. Breaz and N. Breaz, Two integral operator, *Studia Universitatis Babeş-Bolyai, Mathematica*, Cluj-Napoca, **No.3**(2002), 13-21.
- [4] I. Magdas, Doctoral thesis, Babes-Bolyai University of Cluj-Napoca, 1999.
- [5] G. S. Salagean, *Subclasses of univalent functions*, *Lecture Notes in Mathematics*, 1013-Springer Verlag, Berlin Heidelberg and NewYork, 1983, 362-372.